Urbanization

When you find a piece of information in the text that relates to a question circle its entire sentence in the passage in its respective color. Then respond to the question on page 41 of your INB.

Why was a small percentage of the population urban?

Why did practically the entire population practice agriculture?

Over the 19th century how did the percentage of urban population change?

What was the importance of agricultural machinery?

Describe what was needed to power the massive factories.

What were two effects of people moving to urban areas?

What was the effect of cheaper, faster transportation?
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The pressures behind urbanization

At the beginning of the nineteenth century, most American cities still functioned as cities have for thousands of years. A very small proportion of the population was urban, because it took very close to the entire population to grow enough food to feed everyone. City growth has always depended very greatly on the efficiency of agriculture in a society. At first, a single person (or family) could grow no more food than they required; the entire population practiced agriculture, and they each worked to provide for their other, less pressing needs - clothing and other goods - as they could.

In America, the Industrial Revolution began just before the beginning of the 19th century. In 1800, 6% of the population of the nation lived in urban areas, and 85-90% of the population was engaged in agriculture. Over the ensuing century, the first figure rose to 40% and the latter dropped to 50% - which meant that each farmer could produce twice what they needed for themselves. The major increase in agricultural efficiency came from agricultural machinery. Large equipment made much of the manual labor of farming redundant. Thus a much smaller percentage of the population could meet the entire nation's agricultural needs.

Another pressure toward urbanization also stemmed from the Industrial Revolution: the switch from cottage industries to factories as the main production centers. Giant machines, largely powered by water power, became central to industry. Great numbers of people in a small area were needed to operate these machines. These people needed housing, and their presence supported commercial growth, including the innovative department store. Thus, there was a great economic incentive for cities to grow, and that incentive translated into jobs and higher (although still extremely low) wages for workers. Not only were workers lured in from the countryside, but these developments also supported a burgeoning immigrant population, which formed a large percentage of the population of the United States' major cities.

The third factor that promoted the urbanization of America during this period is the development of cheaper, faster methods of transportation during the early part of the 19th century. The steamboat and the railroad first became prominent during the 1820s and 1830s. During this period, an enormous number of railroads and canals appeared. These allowed cities to conduct trade with far larger markets, and the most dramatic effects were upon New York, in its role as the U.S.'s economic capital, and Chicago, which became the economic center of the newly-blossoming Midwest.

Read the following passage and then sketch your vision of a typical city in the mid 1800s on page 40 in your INB.
The results

Cities grew quickly, with huge influxes of population, largely poor, many of them foreigners, and much faster than city infrastructure and development could properly handle. Population density was extremely high, much higher than today, and large numbers of people lived in tenements. Tenement housing was dirty, crowded, noisy, and immensely unhealthful. Open septic tanks were the norm; sanitary sewers did not exist yet, and the storm sewers were nothing more than disease incubators. Cities were smelly and unpleasant. Manhattan, for example, had a population of 2.2 million residents by 1900, a density of 100,000 per square mile. Today, the population has dropped to 1.5 million, largely because people no longer tolerate those conditions.

As a matter of fact, disease was so rampant in 19th century cities that their natural population growth was negative - meaning that only because of migration, either from the countryside or from outside the U.S., did the population of cities grow. Large cities were ugly and dark, with very little greenery to relieve the grey of buildings. As the Industrial Revolution progressed, cities became polluted as well, and were noted only for their ugliness and the misery of their inhabitants.

This concentration was primarily due to the transportation of the era. The railroads and waterways that allowed cities to grow also constrained their growth, as the entire city had to be concentrated around these locations. The lack of automobiles meant that cities had to be entirely accessible on foot; thus, cities remained small, with almost all development within 3-4 miles of the city center.
In spite of the dismal living conditions in the cities, people found ways to make life bearable.  Immigrant groups lived in concentrated areas where they held onto their native languages, customs and traditions.  These groups offered the support of an extended family and laid the foundation for the multiethnic, multicultural society we value today.  Museums, libraries, theaters and shops offered cultural experiences, if one could afford them.
